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1) Solve the following system of
equations using Gaussian
elimination -

-

3x —4y +8z =27 -
Ix-y-z=3 ..
x+8y—2z=9

A.),:*i (1,2,4)
B) (4,2,1)
O (2,4,1)

D) (1,4,2)

2) What is the augmented matrlx
for the glyen system?
T 2 -3y=-16"
x+3S5y= 18

1 >
) [2 -3, —16]
17 5° 18
D). [ ~16}-
W = 18

Part I :- Circle the letter corresponding to the correct answer :-

oasly chda aladiudy ¥ aleall aUSS s (1
3x —4y + 8z =27
IYx—y—z=3
x+8y—-2z=9

¥ alaal) Uil A 343\ aa M\ <IS) (2
N AN
2x —3y=-16
x+5y =18




3) Find ABif A= [4 0] and B = [3 gg
A) -9 -
Zs ol
B) —9 -8
~5..° 0
17 24
C) <20 8] -
SLo44  —421
D) [-9 -5 17
8 0 24

4) Find the determinant of matrix. CrugSaa 22 gl a5 48 glaal) — a4l (4
Then Find the inverse of 4y 43 gliaall

[_4 _32] , if it e?(ists [_4 _32]

A jap=-1,a = _3‘2]
B) =1, at= [‘ -
.'{I’Al -1 A_,,-% 3 4]

D)/ |A| = 0, does not exist

(il 9 Aasivial) dadalll Chuaiiall ddaki 3 ) (5

5) Find the midpoint of the line

segment with endpoints Liilgs
A(—6,5) «B(—2,—-1). A(—6,5) < B(-2,—-1)

A) (-2.2) -

B) ( 4},3)

C). (2 —3)

D) (—4,2)




6) What is the distance between O bRl Cp Alusal) 3290 (6

A(-5,2) and B(3,—4)? A(—5,2) and B(3,—4)?

A) 10 unitswl;,"
B) § untts
C) 100 imits
D)’*\j 2+/2 units

7) Graph equation of parabola ¢ (ASal) adalll syl (7
y=- %xz +1

Y 4+ 5 R i R I S 4 3 o2 { 23 !
A ”
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A (x—-1D%*+ (y+2)? =3
B) x+1)* + (y—-2)* =9

C) x—1)2.# (y+2)2 = 9

D) (x-2)% + (y+ 12 = 9

9) Eind the center and radius of SJ" . “""‘ i Jghag 38 pall 2240 (9
the circle with equation | 8 x2+y2+4x—-10y—7=0

x> +y2+4x—10y—7=0

A) (-2,5);r=36
B) (_275);,7':6

C) (2,_3?:"5'); r =36

D). (2,-5); =6+




10)Write an equation for the Lot ol 6 ‘31 C:"’m‘ ahail) Addlaa 234) (10
ellipse with vertices at L oLu3:s and (6, 4) (6,—8)

(6,—8) and (6, 4) and co- . and (9,-2).(3,-2)
,~2) and (9, -2).

vertices at (3

A

A) =67 , 042 _ .
B) =6 | 0+2)? 4

9 36 -

2 _7\2

C) 6?2 »-2% _,

9 36

Y- 2
D) (x—6) n (y+2) —1

4 9

k

11) Write an equation for hyperbola A el 2031 adal) Alslaa 224 (11

12) What is the graph of : Flay @) (g ial) adall) £ od aaa (12
x? T':.:4J’2 -2y=8 X2 +4y? —2y=8  -: 48V ddadl)

A) Para%ola (S adad

B)- circle 342

C) ellipse il ki
D) hyperbola i akaé




13) Buthaina is pushing the handle
of a push broom with a force of
190 newtons at an angle of 33° with
the ground. Fin(} the magnitudes of
the horizontal and vertical
components_ -

A

A) ]x1'=103.5, |y = 159.3
By |x| = 159.3 .,;ﬁ;.'-'IJyI =103.5
C) |x| =159.3, |y| = 159.3

D) |x| =103.5, |y| = 103.5

14) Find the component form and
magnitude of A ? with initial p01nt

L _lala 3 gl duuiSa (jiaila ALy a8 (13
o2 ) e 330 4355: 190 N
ol 1) 9 A88Y) S jal) ke aa

Aaial) gk g 438 sall 3 guall 2241 (14
AkiigA(—4.3) 4yl dkdi SaAB

B(1,-9) 4 A

A(4.3) anc_l__ 1erm1nal point B(l -9).
A) AB“—( 5,12) , |AB|_13

B),/AB = (5, 12) ; |4B| =13

C) 4B = (-5,-12) | [AB| = 13
D) 4B =(5,-12) , |AB| =13

14) Use the dot product to find the
magnitude of _:azz (—/3,1)




Part 11 :-
16) Use Cramer’s Rule to solve the system of equations.

-3x + 7y =78
. -2x,+ 5y = 55
AAAJJAJAJ u\ c‘\.\.\‘g‘ <Y alaall el.h.\dauﬁfbs OJQ\A ?M\ (16

. —3x + 7y =78

" -2x + 5y = 55
...... Sk \’I.......................................‘..............................................
....................‘:l;./'f.l. ......................................................................

17) erte an equation: for parabola descrlbed vertex. ( 2 1),
ditectrix y=-3._
y = —3 4Ly (_.2 1) 4y ‘_g.m ‘_,ats.d\ adail) Adalaa 32 9 (17
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18) Graph the hyperbola. Identify the vertices , foci and asymptotes.
Cra AL Al g ()5l 9 Gyl ) 20 g i) 31) adall) oyl (18

(c+D* ¥
7 16, 9
............................................. -
-

e Ly

5 ;

st
oooooooooo J:"ooo.ooooooo.oo.oo.oo.‘loo.oo.oo.o.l 2
L R R R R R L I R R R R K 1+

" X
..... e e e e et e e s s ettt s ess s st s essssssse s ey } } I
6 5 4 204 1 2 4 3 6
.............................................. =
............................................. <2
............................................. T
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....................\:l__,'.’.. ......................................................................

19) Find a umt vector u with the same dlrectlon asv = (6, —2)
V= (6 —2) 4alall oladl i 4l My odaj\ 4aie 32l (19

I R I I N I R R T R R I I I R I R R I R R R I R R R R R I I I IR I ST SR Y
...............................................................................................
..............................................................................................

20) Find the angle 0 between Vectors u and v to the nearest tenth of
degree

._ wuf— Ga s @Y ﬂie‘e! G, U, voxaiall ox 0 Asl 3 sl (20
u=(-3,4)v=(-2,0)




